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Controller Clock

= History

= Controller uses Sleep Clock and Active Clock
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Active Clock: NRF_TIMERO, 32/16MHz Crystal, +/- 1 us jitter
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Host Clock
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BIG Event
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ClIG event

Mumber of CIS everts (zequertial orinterleaved, ssquential case shown)
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Zephyr Controller Timestamp
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Solution Option 1
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Experimentation: Sync Timer

= NRF_TIMER3

= Used sync timer in controller

= Start in parallel with NRF_TIMERO
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Experimentation: Setup Sync Timer PPI triggers

= Setup a NRF_TIMER3 compare to trigger at 2000 us from the BIG Sync Anchor Point

= Setup another compare 100 RTC ticks from the first compare trigger
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Experimentation: Host Clock Capture

= Start NRF_RTC2 atoffset rtcl
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Experimentation: Capture Host Ticks and Remainder
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Experimentation: output
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Experimentation: Analysis

CONTROLLER:
(T_Nn, R_Nn + 2000U) = (79606, 2172) = (79677, 5)

HOST:

T_A_Sync = 92150 + 60 = 92210
(T_A_Sync, R_A_sync) = (92210, 5)
diff = 92210 — 79677 = 12533 ticks

Captured timestamp on NRF_RTC1 + NRF_TIMER4 (say by host, T_A_Sync, R_A_Sync) has the same RTC ticks difference as
measured between NRF_RTCO and NRF_RTC1 on the SoC. NRF_RTCO + NRF_TIMER3 by controller was used to trigger a PPI.
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